CONDITIONAL SENTENCES
Choose the sentence that has the same meaning as the given one
1. | couldn’t have made it without your help.
A. | couldn’t have made it if you helped me.

B. I couldn’t have made it if you had helped me.

C. I couldn't have made it if you hadn't helped me.
D. | couldn’t have made it if you didn’t help me.
2. She didn’t stop her car because she didn't see the signal.
A. If she saw the signal, she would stop her car.
B. If she had seen the signal, she would stop her car.
C. If she had seen the signal, she would have stopped her car.
D. If she saw the signal, she would have stopped her car.
3. His flight was delayed so he couldn't be here on time.
A. He would be here in time if his flight were not delayed.
B. He would have been here in time if his flight hadn’'t been delayed.
C. He would be here in time if his flight hadn’t been delayed.
D. He would have been here in time if his flight weren't delayed.
4. Without your help, | couldn’t overcome the problem.

A. If you don't help me, | can't overcome the problem.

B. If you didn’t help me, | couldn’t overcome the problem.
C. If you hadn't helped me, | couldn’t overcome the problem.
D. If you hadn'’t helped me, | couldn’t have overcome the problem.
5. Laura sent me her report, so | was able to finish the project.
A. If Laura sent me her report, | wouldn't finish the project.
St B. Had Laura not sent me her report, | wouldn't have finished the project.

C. If Laura didn’t send me her report, | wouldn't finish the project.

D. | wouldn't have finished the project if Laura didn't help me.
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6. He stepped on the mine, and it exploded.
A. If he doesn't step on the mine, it doesn't explode.
B. If he doesn't step on the mine, it won't explode.
C. If he didn't step on the mine, it wouldn't explode.
D. If he hadn't stepped on the mine, it wouldn't have exploded.

7. It may rain this afternoon. | hope it doesn’t because | don't want the match to be canceled.

A. If it rains, the match is canceled.

P
B. If it rains, the match will be canceled.
C. If it rained, the match would be canceled. )

D. If it had rained, the match would have been canceled.
8. Unfortunately, | don’t know Philosophy, so | can’t answer your question.

A. If | know Philosophy, | can answer your question.

B. If | know Philosophy, | will answer your question.

C. If I knew Philosophy, | could answer your question.

D. If I had known Philosophy, | could have answered your question.
9. If I had time, | would go with you.

A. |l have time and | can go with you.

B. I am too busy to go with you.

C. I will go with you because | have time.

D. | am free to go with you.

10. I/ if/ be/ ill/ not/ absent/ school/ from/ be/ yesterday;/.
A. If  hadn’t been ill, | wouldn't be absent from school yesterday
B. If l wasn't ill, | wouldn't have been absent from school yesterday
C.If I have been ill, | wouldn't have been absent from school yesterday
D. If I hadn't beenill, | wouldn’t have been absent from school yesterday

11.1f/ parents / my / exam / my / pass / | / be / very / happy / last year.

A. If | had passed my exam last year, my parents would have been very happy.
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B. If | pass my exam last year, my parents would be very happy.
C.If I had passed my exam last year, my parents would be very happy.
D. If | passed my exam, my parents will be very happy.
12. Peter cannot go out for lunch because his car is broken.
A. In spite of his broken car, Peter will go out for lunch.

B. If his car is not broken, Peter will go out for lunch.

C If his car were not broken, Peter could go out for lunch.
D. Unless his car were not broken, Peter could go out for lunch.
13. We did not visit the museum because we had no time.
A. If we have time, we will visit the museum.
B. If we had time, we would visit the museum.
C. If we had had time, we would have visited the museum.
D. If we had had time, we wouldn't have visited the museum.
14. When the little boy saw the dog, he ran away and was bitten.
A. If he hadn't run away, he wouldn't have been bitten.

B. If he ran away, he wouldn't be bitten.

C. If he doesn't run away, he won't be bitten.

D. Unless he run away, he wouldn't be bitten.
15. He is not rich and he can't buy the house.

A. If he were rich, he could buy the house.

B. Were he rich, he could buy the house.

C. If only he were rich, he could buy the house.

D. If he had been rich, he could have bought the house.
16. Because you didn't help us, we couldn't finish on time.

A. Had you helped us, we could have finished on time.

B. We could finish ontime because you helped us.

C. We could finish on time if you helped us.
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D. We couldn't have finished on time if you hadn't help us.
17. Jim didn't come to the party so he didn't meet his friends.
A. Jim would have met his friends if he had come to the party.
B. Jim will meet friends if he comes to the party.
C. If Jim had not meet his friends, he wouldn't have come to the party.
D. Jim would meet his friends If he came to the party.
18. Laura doesn't read the story so she feels difficulty in telling it.
A. Laura would read the story if she didn't feel difficulty.
B. Laura would not read the story if she didn't feel difficulty.
C. Laura wouldn't feel difficulty in telling the story if she read the story.
D. Laura would feel difficulty if she read the story.

o,

19. He doesn't eat fish when he isn't extremely hungry. it

A. He won't eat fish if he isn't extremely hungry.

B. He will eat fish if he isn't extremely hungry.

C. He wouldn't eat fish if he isn't extremely hungry.

D. He won't eat fish if he weren't extremely hungry.
20. We didn't hurry, so we were late for the concert.

A. We wouldn't have been late for the concert if we had hurried.

B. We won't have been late for the concert if we had hurried.

C. We wouldn't have been late for the concert unless we have hurried.

D. We would have been late for the concert if we had hurried.

21. Tom won't do anything if you don't tell him what to do. ;:.—.y‘p

A. Unless you tells him what to do, he won't do anything.

B. Unless you don't tell him what to do, he won't do anything.
C. Unless you told him what to do, he won't do anything.

D. Unless you tell him what to do, he won't do anything.

22. The soil would become poor unless the farmer added fertilizers.
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A. The soil would become poor if the farmer added fertilizers.
B. The soil will become poor if the farmer didn't add fertilizers.
C. The soil would become poor if the farmer didn’t add fertilizers.

D. The soil would become poor if the farmer don't add fertilizers.

23. He doesn't get a job, so he can’t pay his bills.
A. If he got a job, he could pay his bills.
B. If he gets a job, he could pay his bills.
C. If he got a job, he couldn't pay his bills.
D. If he got a job, he can pay his bills.
24| was sick yesterday, so | didn't go to class.
A. If | had not been sick yesterday, | would go to class.
B. If | had not been sick yesterday, | would have gone to class.
C. If I had been sick yesterday, | would have gone to class.
D. If I had not been sick yesterday, | would have went to class.
25. She isn't fit because she sits around too much.
A. If she didn't sit around too much, she would be fit.
B. If she didn't sit around too much, she wiill be fit.
C. If she didn't sit around too much, she would have been fit.

D. If she sits around too much, she would be fit.

26. The test is too difficult. She can't do it.
A. If the test weren't too difficult, she can do it.
B. If the test wasn't too difficult, she could do it.
C. If the test isn't too difficult, she could do it.
D. If the test weren't too difficult, she could do it.
27. 1 didn’t pay attention to the teacher. | failed to understand the lesson.
A. Although | paid attention to the teacher, | failed to understand the lesson.

B. I would have understood the lesson if | had failed to pay attention to the teacher.
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C. I would have understood the lesson if | had paid attention to the teacher.
D. Unless | failed to understand the lesson, | would pay attention to the teacher.
28. We survived that accident because we were wearing our seat belts.
A. If we weren't wearing our seat belts, we could have survived that accident.
B. Had we not been wearing our seat belts, we wouldn't have survived that accident.
C. Without our seat belts, we could have survived that accident.
D. If we hadn’'t been wearing our seat belts, we could have survived that accident
29. They were late for the meeting because of the heavy snow.
A. If it snowed heavily, they would be late for the meeting.
B. Had it not snowed heavily, they would have been late for the meeting.
C. If it weren't for the heavy snow, they wouldn't have been late for the meeting.
D. If it didn't snow heavily, they wouldn't be late for the meeting
30. He was successful in his career because his parents supported him.
A. Had it not been for his parents’ support, he wouldn't be successful in his career.
B. If his parent didn‘t support him, he wouldn't be successful in his career.
C. If his parents hadn't supported him, he wouldn't have been successful in his career
D. Without his parents’ support, he would have been successful in his career.
31. They cancelled all the sporting events because it rained heavily.
A. Without the heavy rain, they wouldn't cancel all the sporting events.
B. If it hadn't rained heavily, they would have cancelled all the sporting events.
C. Ifit didn’t rain heavily, they wouldn't cancel all the sporting events.
D. Had it not rained heavily, they wouldn't have cancelled all the sporting events.
32. You didn't tell me your story, so | couldn't help you.
A. If you told me the story, | could help you.
B. If only you told me your story, | could help you.
C. Were you to tell me your story, | could help you

D. If you had told me the story, | could have helped you
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33. She worked hard so she got high wages.
A. If she didn't work hard, she wouldn't get high wages
B. If she had worked hard, she would have got high wages.
C. If she hadn't worked hard, she wouldn't have got high wages.

D. If she worked hard, she would get high wages.

34. John is fat because he eats so many chips.

A. If John does not eat so many chips, he will not be fat.

B. If John did not eat so many chips, he would not be fat.

C. John is fat although he eats so many chips.

D. If John hadn’t eaten so many chips, he wouldn’'t have been fat.
35. John would like to take a lot of photos, but he doesn't have a camera.

A. John would take a lot of photos if he had a camera.

B. John will take a lot of photos if he has a camera.

C. John wouldn't take a lot of photos if he had a camera.

D. John would have taken a lot of photos if he had had a camera.
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